

مساحتی / تکلیف شماره ۱۵

$$y = \tan(-\mu x + \frac{R}{F}) \quad T = \frac{R}{|b|} = \frac{R}{Y} \rightarrow x=0 \quad y=1 \quad (1)$$

$$S = \frac{R \times 1}{Y} = \frac{R}{F}$$

$$x^2 - (\sin \alpha)x - \frac{1}{F} \cos^2 \alpha = 0 \rightarrow x^2 - (\sin \alpha)x - \frac{1}{F} + \frac{1}{F} \sin^2 \alpha = 0 \quad (2)$$

$$x = \frac{Y}{\mu} \rightarrow \frac{F}{q} - (\sin \alpha) \frac{Y}{\mu} - \frac{1}{F} + \frac{1}{F} \sin^2 \alpha = 0 \rightarrow$$

$$\frac{1}{F} \sin^2 \alpha - \frac{Y}{\mu} (\sin \alpha) + \frac{Y}{\mu q} = 0 \quad \times F \rightarrow \sin^2 \alpha - \frac{\Lambda}{\mu} \sin \alpha + \frac{Y}{q} = 0$$

$$\sin \alpha = x \rightarrow (x - \frac{1}{\mu})(x - \frac{Y}{\mu}) = 0 \quad \left\{ \begin{array}{l} \rightarrow \sin \alpha = \frac{1}{\mu} \checkmark \\ \rightarrow \sin \alpha = \frac{Y}{\mu} \times \end{array} \right.$$

$$\cos^2 \alpha = 1 - \frac{1}{q} = \frac{\Lambda}{q}$$

$$1 + \tan^2 \alpha = \frac{1}{\cos^2 \alpha} = \frac{q}{\Lambda}$$

$$\log(\sin \alpha) - \log(-\cos \alpha) = \log 3 \quad \sin \alpha - \cos \alpha = ? \quad (3)$$

$$\log \frac{-\sin \alpha}{\cos \alpha} = \log \frac{-\tan \alpha}{1} = \log 3 \rightarrow -\tan \alpha = 3 \rightarrow \tan \alpha = -3$$

$$\sin \alpha > 0, -\cos \alpha > 0 \rightarrow \cos \alpha < 0$$

$$1 + \tan \alpha = \frac{1}{\cos \alpha} \rightarrow \cos \alpha = \frac{1}{10} \rightarrow \cos \alpha = -\frac{1}{\sqrt{10}} \quad \sin \alpha = \frac{3}{\sqrt{10}}$$

$$\sin \alpha - \cos \alpha = \frac{3}{\sqrt{10}} + \frac{1}{\sqrt{10}} = \frac{4}{\sqrt{10}} \times \frac{\sqrt{10}}{\sqrt{10}} = \frac{4\sqrt{10}}{10} = \frac{2\sqrt{10}}{5}$$

$$\sin^2 \theta + \cos^2 \theta = \frac{4}{5} \quad \cos^2 \theta + \sin^2 \theta = ? \quad (4)$$

$$1 - \sin^2 \theta = \frac{4}{5} \rightarrow \sin^2 \theta - \sin^2 \theta + 1 = \frac{4}{5}$$

$$(1 - \sin^2 \theta) + \sin^2 \theta = \sin^2 \theta - \sin^2 \theta + 1 + \sin^2 \theta =$$

$$\sin^2 \theta - \sin^2 \theta + 1 = \frac{4}{5}$$



یکشنبه

۲۲

۱۳۳۷ اردیبهشت ۱۳۳۷ ۱۳ DEC 2015

$V \leq V + \cos \alpha \leq F \rightarrow \oplus$ داره ۹۴ آذر ۹۴

$$\frac{V \sin \alpha + \sin \alpha \cos \alpha}{V - V \cos \alpha} < 0 \rightarrow \frac{\sin \alpha (V + \cos \alpha)}{V (1 - \cos \alpha)} < 0 \rightarrow \sin \alpha < 0 \quad (\omega)$$

$$\sin \alpha \tan \alpha - \frac{1}{\cos \alpha} > 0 \rightarrow \frac{\sin^2 \alpha - 1}{\cos \alpha} > 0 \rightarrow$$

$$\frac{-\cos^2 \alpha}{\cos \alpha} > 0 \rightarrow -\cos \alpha > 0 \rightarrow \cos \alpha < 0$$

$$\sin \alpha < 0, \cos \alpha < 0 \rightarrow V \leq \text{نوب}$$

$$\frac{V}{\sin \alpha} + \frac{V}{\cos \alpha} = 0 \quad \tan \alpha + \cot \alpha$$

$$\frac{V \cos \alpha + V \sin \alpha}{\sin \alpha \cos \alpha} = 0 \rightarrow V \cos \alpha + V \sin \alpha = 0 \rightarrow$$

$$V \cos \alpha = -V \sin \alpha \rightarrow \tan \alpha = -\frac{V}{V}, \cot \alpha = -\frac{V}{V}$$

$$\tan \alpha + \cot \alpha = -\frac{V}{V} - \frac{V}{V} = -\frac{V+V}{V} = -\frac{2V}{V}$$

$$\frac{\sqrt{1 + \sin \omega_0}}{\sin \omega_0 + \sin 1_0} = \frac{\sqrt{(\sin^2 \omega + \cos^2 \omega)^{1/2}}}{\sin \omega_0 + \sin 1_0} = \frac{\sqrt{V \sin (V \omega + V \omega)}}{\sin \omega_0 + \sin 1_0} \quad (\checkmark)$$

$$\frac{\sqrt{V \sin V \omega}}{\sin \omega_0 + \sin 1_0}$$

$$\underbrace{(1 - \cancel{r} \sin^2 \omega_0)}_{\cos 2\omega_0} \underbrace{(\cancel{r} \cos^2 \omega_0 - 1)}_{\cos 2\omega_0} \underbrace{\left(\frac{1 - \tan^2 \omega_0}{1 + \tan^2 \omega_0} \right)}_{\cos 2\omega_0}$$

$$\frac{\sin \omega_0 \cos \omega_0 \cos \omega_0 \cos \omega_0}{\sin \omega_0} = \frac{\sin \omega_0 \cos \omega_0 \cos \omega_0}{\cancel{r} \sin \omega_0}$$

$$\frac{\sin \omega_0 \cos \omega_0}{\cancel{r} \sin \omega_0} = \frac{\sin \omega_0}{\cancel{r} \sin \omega_0} = \frac{\tan \omega_0}{\cancel{r}}$$

$$\sin \alpha + \cancel{r} \cos \alpha = \cancel{r} \quad \omega \cos^2 \alpha - \cancel{r} \cos \alpha$$

$$\hookrightarrow \sin \alpha = \cancel{r} - \cancel{r} \cos \alpha$$

$$\hookrightarrow \omega (\cos^2 \alpha - 1) = \cancel{r} \cos^2 \alpha - \omega - \cancel{r} \cos \alpha$$

$$\cancel{r} \cos^2 \alpha \rightarrow \sin^2 \alpha + 4 \sin \alpha \cos \alpha + 4 \cos^2 \alpha = \cancel{r}$$

$$1 - \cos^2 \alpha + 4 \cos^2 \alpha + \underbrace{4 \cos \alpha (\cancel{r} - \cancel{r} \cos \alpha)}_{\cancel{r} \cos \alpha - \cancel{r} \cos^2 \alpha} = \cancel{r} \rightarrow$$

$$- \cancel{r} \cos^2 \alpha + \cancel{r} \cos \alpha = \cancel{r} \rightarrow \omega \cos^2 \alpha + 4 \cos \alpha + \cancel{r} = \cancel{r}$$

$$\underbrace{\cancel{r} \cos^2 \alpha - \cancel{r} \cos \alpha - \omega}_{-\cancel{r}} = -\cancel{r}$$

$$\sin^2 \hat{\beta} \sin^2 \hat{\gamma} = \cos^2 \frac{A}{\cancel{r}} \rightarrow \cancel{r} \sin^2 \hat{\beta} \sin^2 \hat{\gamma} = 1 + \cos A \quad \hat{\beta} = \cancel{r} \quad \textcircled{10}$$

$$\frac{1 + \cos A}{\cancel{r}}$$